Restar de Ceros (G)

1000

-89

1000

- 346

1000

- 881

1000

- 350

1000

- 695

1000

- 364

1000

-163

- 480

- 651

- 955

- 800

- 367

- 936

- 349

Halle cada diferencia.

1000

1000

1000

1000

1000

1000

1000

1000

- 808

1000

- 253

1000

- 27

1000

-767

1000

-925

1000

- 769

1000

-11

1000

- 199

1000

- 639

1000

-31

1000

-873

1000

- 847

1000

- 808

1000

-902

MatesLibres.Com




Restar de Ceros (G) Respuestas

1000
-89

911

1000

- 346
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Halle cada diferencia.

1000 1000
- 480 - 808
520 192
1000 1000
- 651 - 253
349 747
1000 1000
- 955 - 27
45 973
1000 1000
- 800 -767
200 233
1000 1000
- 367 -925
633 75
1000 1000
- 936 - 769
64 231
1000 1000
- 349 -11
651 989
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